H& 347 1w

wob3EB 2 (Ratio Test) &tk 5k 2B F Jxaces =
PIE S RE S R AR 2 Y3 o

AL E AT R

p|:E=% % (Ratio Test)

pESD *;ﬁjﬂ""l‘

we ¥ g

c &

Dt B3Rk (Ratio Test)

Z
}‘J, ||m n+l

nN—o0 Z

é—&ﬁial

© ATz +Z,+25+

@ FL<l> Rz, +2,+2,+ - 5 jzacsdic e

(b) #L>1> Bz, +2,+Z53+ 5 FHredice

(€) L=1-pla

L o

31 L BRI e Sk AT JTac e

7%

Froi-

n=0

1+000+7a)+

1 2
5(100+ 75i ) +

gL G RER i Gr

(100+75i)™

L = lim| s | = | (N+2)
| 7, | =+ (100+75i )"
n!

En oo Hit g L=0 - st s Bofoar o

100+ 75i
=1m =
oo n+l

125
m——
n>on+1

=0




